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1. 1F129=32,find ¢

(i) 2 (i) 4 (iii) 8 (iv) 5 (v) 6

2. 1f4%=1024, find 6~

(i) 7776 (ii) 7775 (iii) 7777 (iv) 7778 (v) 7773

3. 0f 304202 7248 gy
() 11 (i) 10 (i) 13 (v) 7 (v) 9

(w+2)

4. 1f 10242%= 4096 ,find w

(i) 4 (ii) 3 (iii) 2 (iv) 0 (v) 6

5.0F 91927 254324 30 g b

(i) 119 (ii) 117 (iii) 121 (iv) 120 (v) 123

6. If 4Y=16, find 4(24*+3)

(i) 16384 (ii) 16382 (iii) 16385 (iv) 16387 (v) 16383

=R k= =) _

7. (x) (x) (x)

(i) 2 (i) 1 (ii) (-1) (iv) 0 (v) 3

160
8. If (87) =(84)a,find a

(i) 117 (ii) 120 (iii) 121 (iv) 119 (v) 122

9. 1f 16x2=2"7 find ¢

(i) 4 (i) 2 (iii) 3 (iv) 5 (v) O

(2x+1)

10. If 6 +216=62,find X

(i) 1 (i) 0 (iii) 3 (iv) 4 (v) 2

11. If 960400= g2x h*x i*, find g, h,i

(i) (8,2,7) (ii) (8,2,4) (iii) (5,2,10) (iv) (5,5,7) (v) (5,2,7)

b

12. If 24310125=39% 5% 7€ find a,b,c

(i) (4,3,5) (ii) (5,3,4) (i) (4,4,4) (iv) (4,3,4) (v) (5,3,3)



13.

14.

15.

If eW=f, fX=g and gy=e , then wxy=

(i) -1 (i) (e+frg) (iii) 1 (iv) 0 (v) efg

If a = bW= CX= d’vand ab = cd , then

Lol Gy we=ay i 2ataty?
w 'y X Vv w X Vv

(w—-1)

If ¢ = de, g7V

= ec, YD 2 4 then
a
b

) wx+ xy+ yw=0
)
c) wx+xy+yw=1
)
)

wxy=1

d) (w+x+y)=1

e) wx+ xy+ yw= wxy

(i) {cd.e} (i) {e} (i) {be} (iv) {ae}

(iv) wx=vy (v)

1+1
w



Assignment Key

1) (iv) 2) (i) 3) (ii) 4) (ii) 5) (iv) 6) (i)
7) (ii) 8) (ii) 9) (iii) 10) (v) 11) (v) 12) (iv)
13) (iii) 14) (v) 15) (ii)
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